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Unit One

Passage 1

The earliest method of exploiting this power was to make water
turn a wheel. This system, in which the force of water was used
directly, had one great disadvantage. Factories which used it had to
be built on the banks of fast flowing streams, but these were often
located in inaccessible, thinly populated areas, which made
transportation of goods difficult.

When the steam engine was invented it soon replaced flowing
water as a source of pov;r'er; new factories sprang up in the coal fields.
-Coal and oil—reserve of power also{ultimately!derived from the sun —
are not always found in accessible)places, but they have the advantage

of being portable.

In the 20th century the situation changed and water once more
became a vital source of power. Methods were devised for producing
electricity from the energy of rivers. Once the initial capital has been
recovered, electricity from this source is usually cheaper than oil and
coal, which are expensive to extract(FF ) and transport. The great
advantage of hydroelectric power is that nature constantly renews the
water that provides the power. Coal and oil are fuels that can only be
used once,

Not all rivers are ideal for generating electricity. A suitable river
must have an adequate flow of water, and ideally there should be a
steep fall. A (steepr waterfall is ideal, because it concentrates the
energy of(gravity )into a short distance. The amount of water in the
river, moreover, should not vary too much from season to season.
This means that there must be adequate rainfall throughout the year.
The river must be fairly near the industrial centers which will utilize
its power, for the greater the distance the electricity has to travel, the
more power is wasted.

1. If you want to make water turn a wheel, you should keep in mind
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2.

3.

4,

the difficulty to .

A. use it directly

B. carry goods out

C. cross the fast {lowing streams

D. find enough workers

The steam engine soon replaced flowing water because
A. coal and oil are derived from the sun

B. coal and oil are not always accessible

C. coal and oil are portable

D. coal and oil are found in thinly-populated areas
After using coal and oil for a time, people find the advantages of
water over coal and oil as o
A. it is easy to recover the initial capital

B. it is as cheap to use water as to use coal and oil

C. it is nature that renews the water without any cost
D.. it is difficult to extract and transport coal and oil
All of the following are required for an ideal river EXCEPT that
A. there should be energy of gravity

B. there should be a steep fall

C. the river should be near industrial centers

D. there should be an adequate flow of water

. It can be inferred from the passage that if people want to establish

a water power station, they will most probably go to

A. the mountainous areas B. the plains
C. the lake areas D. the river mouths
Passage 2 =

When you take your car—or, indeed, any piece of machinery —

to be repaired, it is generally an advantage to ask for an estimate.

You should make sure an estimate is clearly listed so that you can
check it afterwards. Then you cannot be charged for unnecessary
work. Sometimes the repair cannot be accurately estimated until some
parts have been d1smant1ed If so, authorize this amount of work first

and ask for an accurate estimate after it has been done.

Wages and methods of costing differ from garage to garage.

2 —



Some garages pay their mechanics a flat rate per hour and pay one
time and a half for overtime. Others add a fixed percentage per hour
to the hourly rate. They pay for the overtime at the same rate.

Garages which have an incentive (3 Fh ) scheme pay the
mechanic a part, usually thirty‘pe;r cent or thirty-three and one-third
per cent, of what the customer is charged. They don’t usually pay
attention to the time the mechanic has taken. The charge to the
customer is based on manﬁfacturer’ s suggested time-schedules for
work. For example, if the time allowed is three hours and the
mechanic takes two and a half, the customer is charged for three
hours. The mechanic receives thirty per cent of the total amount
charged, not thirty per cent of the charge for the two and a half hours
he actually worked on the job.

Labor charged to customers covers not only the cost of wages but
also overheads(§H%%). To get the cost per hour of the overheads,
divide the cost of running the workshop itself by the number of hours
of work available. Then add to this an amount for profit.

6. The word “dismantled” in the fi‘r_st paragraph most probably

means .
A. taken apart B. taken away
C. taken off D. taken over

7. Tt is important to obtain a clearly listed-estimate so that
A. you will always obtain a lower price
B. you will get better service
C. you will not have to pay for unnecessary work
D. you will not have to pay any overtime

8. Mechanics are paid
A. at an hourly rate
B. according to the skill needed
C. in a number of different ways
D. by a percentage of the total overheads

9. According to the passage, which of the following does the
customer not have to pay for?
A. Labor gﬁargeg, B. Overheads.
C. The estimate, D. The profit,

10. How can a mechanic estimate the cost of a job?



A. He is unable to estimate it.

B. He can charge a percentage of the total workshop costs,
C. He can use the manufacturer’s schedules. '
D. He can ask the customer.

Passage 3

Many private institutions of higher education around the country
are in danger. Not all will be saved, and perhaps not all deserve to be
saved. There are low-quality schools just as there are low-quality
businesses. We have no duty to save them simply because they exist,

But many promising institutions that deserve to continue are
threatened. They are doing a fine job educationally, but they are
caught in a financial squeeze, with no way to reduce rising costs or
increase income significantly. Raising tuition(%% %#) doesn’t bring in
more income, for each time tuition goes up, the enrollment (§F U A
) goes down, or the amount that must be given away in student aid
goes up. Schools are bad businesses, whether public or private, not
usually because of mismanagement but because of the nature of the
enterprise. They lose money on every customer, and they can go
bankrupt either from too few students or too many students. Even a
very good college is a very bad business.

It is such colleges, promising but threatened, that I worry
about. Low enrcllment is not their chief problem. Even with full
enrollments, they may go under. Efforts to save them, and preferably
to keep them private, are a national necessity. There is no basis for
arguing that private schools are inherently better than public schools.
There are many examples to the contrary. Anyone can name state
universities and colleges that rank as the finest in the nation and the
world. It is now inevitable that public institutions will be dominant
(G 5 #7), and therefore diversity (£ ¥ #) is a national
necessity. Diversity in the way we support schools tends to give us a
healthy diversity in the forms of education. In an imperfect society
such as ours, uniformity of education throughout the nation could be
dangerous. In an imperfect society, diversity is a positive good.
Supporters of public higher education know the importance of
sustaining private higher education.
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11. According to the author’s opinion schools are bad businesses

because of
A. mismanagemer.p B. too few students
C. too many students D. the nature of schools
12. The author used the phrase “go under” in the third paragraph to
mean #
A. get intd difficulties B. have low enrollment
C. have low tuition D. bring in more money

13. We can reasonably conclude from this passage that the author
made an appeal to the public in order to support % .

A. public institutions B. private s¢hools
C. uniformity of education D. high quality of education
14. Which of the following is NOT true? YY) \

A. High-quality private schools deserve to be saved.
B. If the tuition is raised, the enrollment goes down.
C. There are many cases to show that public schools are better
than private schools.
D. Private schools have more money than public schopls.
15. Which of the following ways could possibly save private
schools? C_
A. Raising tuition.
B. Full enrollment.
C. National awareness and support.
D. Reduction of rising costs.

Passage 4

Sylvester and I are watching television advertisements because
we need information for a class research project. We have to discuss
realism and distortion(# #l]) in television advertising, and so we are
looking for examples of distortions and falsehoods in television
commercials. The question we are asking is, “Is the commercial true
to life, or does it offer an unreal picture of the product?”

Sylvester is keeping track of the distortions, and he already has
quite a long list. He says that all housewives seem to live in lovely
homes, dress beautifully, and love their household chores. They
smile and boast about floor waxes and proudly display their dirty
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laundry, dusty tabletops, and dirty ovens. In addition, he had never
seen men doing housework, Sylvester thinks that this view of family
life is filled with distortions.

1 am keéping track of the people who appear in the
advertisements. I have found handsome men courting(CR &) the All-
American Girl, and they are always recommending brand X
toothpaste or brand Y cologne (Bl & % 7K ). 1 see teenagers and
children surrounded by their friends, having wonderful times at
parties and at school, and they are usually enjoying large harmonious
family gatherings. I think that these advertisements are also filled
with distortions.

Sylvester and I have concluded that much of American life is
pictured unrealistically in commercials. Teenagers do not always have
fun at parties, and very few people love doing chores. People do have
problems, but few of these are ever shown in commercials.

16. Sylvester is keeping track of

A. advertisements showing brand X .

B. advertising distortions

C. advertisements showing housewives

D. both A and C
17. Housewives in advertisements are .

A. disgusted with laundry

B. bappy with their chores

C. courted by men using cologne

D. none of the above
18. The best title for this passage is

A. Our Research Project

B. Keeping Track of Television Advertising

C. Distortions in Television Advertising

D. Beautiful People on TV
19. The author found unrealistic advertisements picturing

A. school teachers B. city people
C. suburban housewives D. happy teenagers
20. People’s real problems are .
A. the basis for all advertising B. distorted by commercials
C. never shown in commercials D. told honestly in commercials
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Unit Two

Passage 5

Where money goes? About 70 per cent of the average household’
s spending goes for necessities such as housing, food, clothes and
health care. To be able to afford these items and still have money left
for nonessentials such as travel and entertainment, most families find
themselves economizing and watching their pennies. The same
problem of matchmg limited resources with seemingly endless
demands confronts busmemgenaes T

That is essentially what the economy is all about—making
choices on how to use limited resources of money, manpower,
machinery and materials, whether it involves a shopper decxdmg what
to buy in the supermarket or a manufacturer deciding what line of
goods to produce.

Choices made in the economy involve a continuous tug of war(3k
M 1. $8) between consumers and producers over price.

If many businesses are offering a product and there is plenty of it
to satisfy the needs of all consumers, a producer will be forced to sell
at a price not far above costs in order to keep from being stuck with a
lot of unmarketable supplies. This is-why, for example, the prices of
fresh fruits and vegetables normally drop during the summer months
when such produce is in abundance.

However, a low price—especially if it falls below what it costs a
seller to make the goods—will discourage production, perhaps drive
the high—coét producers out of business or force them to make
something else.

Again using an example from agriculture, farmers periodically
plant less wheat or raise fewer cattle if the prices for those goods give
too little return for the costs involved.

21. Most families need to be careful about spending money because



22.

23.

24.

25.

A. they need money for both essentials and nonessentials

B. they need to match limited resources

C. they spend 70% of their money on nonessentials

D. the businesses and public agencies demand endlessly from
them

The writer, in order to , tells us that most families save

money. B

A. explain clearly what the nature of economy is

B. introduce the new topic—the war between consumers and
producers

C. answer the question at the beginning of the passage, “Where
money goes?”

D. suggest ways to save money

Fresh fruits and vegetables are sold at low prices when

A. their cost has dropped because of mass production

B. there are a lot of unmarketable supplies because of high cost

C. it is easy for fruits and vegetables to become rotten in summer
months

D. there are more than enough in markets

Which of the following adjectives best describes the rise and fall

of the price? .

A. Regular. B. Unmarketable.

C. Continuous. D. Low.

According to the passage, if a shoemaker makes shoes at the cost

of $5 a pair and sells it at $4 a pair, he will most probably

.

A. increase his production

B. think of making something else
C. lower the cost

D. use more resources

Passage 6

Looking back on years of living in a working-class home in the

north of England, I should say that a good living room must provide
three principal things: gregariousness(#f %), warmth and plenty of
good food. The living-room is the warm heart of the family and
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therefore often slightly stuffy to a middle-class visitor. It is not a
social centre but a family centre; little entertaining goes on there or in
the front room, if there happens to be one; you do not entertain in
anything approaching the middle-class sense, The wife’ s social life
outside her immediate family is found over the washing-line, at the
little shop on the corner, visiting relatives at a moderate distance
occasionally, and perhaps now and again a visit with her husband to
his pub or club. Apart from these two places, he has just his work
and his football matches. They will have, each of them, friends at all
these places, who may well not know what the inside of their house is
like, having never “stepped across the threshold,” as the old
fashioned phrase has it. The family hearth(§3%) is reserved for the
family itself, and those who are “something to us” -(another favorite
formula) and who look in for a talk or just to sit. Much of the free
time of a man and his wife will usually be passed at that hearth., Just
staying in is still one of the most common leisure-time occupations. *
26. The writer comes_to know the conditions he described from

A. his studies as a sociologist

B. novels with a working-class setting

C. the work of social historians

D. his own experience
27. What would strike an outsider was the working-class living-

room’s lack of o]

A. air B. refinement

C. friendliness D. cooking facilities
28. The kind of family he describes &(

A. did a lot of entertaining

B. often had middle-class visitors

C. rarely entertained

D. never had visitors
29. The typical working-class wife, according to the writer, V ) .

A. never saw people outside the family

B. usually belonged to a club

C. disapproved of pubs and clubs

D. sometimes went out with her husband



30, The passage implies, but does not directly say, that .
A. the working-class living-room is the warm heart of the family
B. the working-class living-room is the same with that of a
middle-class family
C. the middle-class living-room is often the heart of entertaining
D. the working-class living-room is not a social centre but a
family centre b '

Passage 7

Not so long ago it was assumed that the dangers man would meet
in space would be terrible, the main ones being radiation and the
danger of being hit by meteors. It is perhaps worth remembering that
less than two centuries\-‘ ago, the dangers of train travel seemed
similarly terrible. A man would certainly die, it was thought, if
carried along at a speed of 30 m. p. h.

There are two sorts of radiation man must fear in space. The
first is from the sun, which is deadly. The second, less harmful
form, comes from the so-called Van Allen Belts, These two kinds of
radiation are as far as about 1,500 miles away from the earth. Neither
of these forms of radiation is dangerous to us on the earth, since we
are protected by our atmosphere. Specifically, it is that part of our
atmosphere known as the ozonosphere (B4 2) which protects us.
This is a belt of the chemical ozone between 12 and 21 miles from the
ground which absorbs all the radiation.

Once outside the atmosphere, however, man is no longer
protected, and radiation can be harmful in a number of ways. A
distinction must be drawn between the short and long-term effects of
radiation. The former are merely unpleasant, but just because an
astronaut returning from a journey in space does not seem to have
been greatly harmed. We cannot assume that he is safe. The long-
term effects can be extremely serious, even leading to death.

31. The dangers of space travel are

A. radiation and Van Allen Belts
ozonosphere and meteors ﬁ\v
radiation and meteors
atmosphere and explosion
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